2. Dzialania na krzywej eliptycznej

Zad.1
Y+a, X Y+a; Y-(X+a,x +aX+ag)=0

I y=Kx+pu

E(x,Rx+ ) =0=—(x—x)(x—x,)(x — x;)
(xxmwz (x1:>2+x3>—x2
x*(R* +ak—a,)

X, =A +ak—a, —x —x,

;:xx3+ﬂ:xx3+y1_xx1 =A(x; —x) + Y,

— Vs =7L(x3 — X))+ Yy +ax; +a,

Y3 = —7L(x3 —X,) =y, —a,x; —a,

n=22"Dgla P2
Xy =X

- 3x? —-a,y+2a,x+a, dla

_P=0

2y +a, +a,
zatem 1) E:y2=x3-x mod 5

p+Q....=(3,3)

Zad.2
Oblicz 2*(P+Q)



x_3x2—a1y+2a2x+a4 S 3x*-1_27-1 26 1

|
2y +a, +a, 2y 6 6 1

x; =R’ +ak—a,—x —x=1"-2%3=1-6=-5=0

V3 =R(x; —x3) =y —ax; —a; =13-0)-3=0
2(P+Q)=(0,0)

6,(0,0), (1.0), (2.1), (3,3), (2,4)

Inny sposob P=(1,0) Q=(2,1)  P+Q=(3,3) 2*(P+Q)=(0,0)

Znajdz generator grupy:

(0,0)
nie daja si¢ mnozy¢ 2*(0,0)= ©
(1,0)
2,H)+(2,4=06
P=(2,1) 2*Pp
K= -t 1 l(modS) =1=2"(mod5)=3
2 2 2

X3:9+4:O
y3=3%(2-0)-1=0

P=(2,4) 2P

xzﬂzl_lzl*g,—l:z
9 3

X3:4-4:0
y3=2%(2-0)-4=0






